K 8 Wérksheets

Divisibility Rule- 10

Fill in the blanks and underline the correct choice.

1) 23,866 2) 50,980

a) The last digit is a) The last digit is

b) 23,866 is divisible / not divisible by 10. b) 50,980 is divisible / not divisible by 10.
3) 126,720 4) 33,251

a) The last digit is a) The last digit is

b) 126,720 is divisible / not divisible by 10. b) 33,251 is divisible / not divisible by 10.
5) 80,955 6) 42,670

a) The last digit is a) The last digit is

b) 80,955 is divisible / not divisible by 10. b) 42,670 is divisible / not divisible by 10.
7) 28,445 8) 607,500

a) The last digit is a) The last digit is

b) 28,445 is divisible / not divisible by 10. b) 607,500 is divisible / not divisible by 10.
9) 32,160 10) 96,238

a) The last digit is a) The last digit is

b) 32,160 is divisible / not divisible by 10. b) 96,238 is divisible / not divisible by 10.

11) 536,732 12) 10,240
a) The last digit is a) The last digit is
b) 536,732 is divisible / not divisible by 10. b) 10,240 is divisible / not divisible by 10.
13) 61,170 14) 20,685
a) The last digit is a) The last digit is
b) 61,170 is divisible / not divisible by 10. b) 20,685 is divisible / not divisible by 10.
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